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SSC CHSL (10+2) 2022

* Arrange the following words 1n a logical and meaningful order.

* [ETIRA ITSGT ol dTioheh ST WY hH T AT ]
* |. Result/qiumH

° 2. Publicity/El%ﬂTJ

* 3. Swearing in/M9Y A2UT
* 4. Enrollment/Aieh

\/B'Sa 49 29 193
® 5. Voting/Hdgld éy')_rg V% l C.4,2,5,1, 3—}

A.4,5,2,1,3

D.5,2,4,1,3
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®* Which letter-group will replace the question mark (?) to complete the given

series?

* &Y 1T TSl ol I A o foTU -1 HEHHE FHaT=ieh o1& (?) i Tiaemivd
W‘?

W\ o (B|™# 2GC
e CFIK, TMOR, 'OTXY, 2, EHLM
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* A clock 1s started at noon. By 10 minutes past 5, the hour hand has turned

through.
* TIIET H Tk BT ITE ol STt 8l 5 et 10 e W sie Al |8 o0 el §
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® Statement:
* All jasmiWs./‘éﬁﬁ o N 2l
* No flower is plant./ﬁ'sc F qre T 2l

\ /L. 0 *
* Some herbs are herbs./F® ITEH(d-a1 2l

———

® Conclusion:
* 1. Some jasmine are herbs./$s aﬁﬁa@?—aﬁ 3K
° II. N?)jasmine 1S herb./aﬁé SEGL STe] ®|c\dﬁ| Tl %lx

* [11. No jasmine is flower./aIg THeA! ESEH] BN

@e" © Q
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® Statement:

* Some lights are wires./$s Tz A 2l

* All instrun@ are lights./&} IThT0T ATSS &
* All bulbs are t50ls./qH! STos ST 2|
® Conclusion: -
\\r\\)’ ) \/
* 1. Some lights are tools./$® AT IUHT B
® II. Some wires are bulbs./$® I s 2l X
* IIL. All bulbs are lights./a¥i sios @irge 8.~/
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* Pointing to the portrait of a gentleman, Rashmi says, "He 1s the father-in-law of
my son's wife." How is the person related to Rashmi?

* Tsh ST o {1 i ST 3N Ld T, WA shedll €, "8 4L I shl Tt oh T el
=k TRF O fohe TR Haiferd 29

A. brother in law
B. brother
;3. Cousin

—=0 > Fband)

‘@qslr ‘,:D
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* Choose a figure which would most closely resemble the unfolded form of
Figure (7).

* Teh UHT SITRIA <, ST 5T (Z) & SThIces HiH o Jad hile § Herdl-sod! il
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* Find out that answer figure in which the question figure 1s embedded.

* I I JATHI J1d hIfSTC fored s7 T1ehfa Affed 2

Question Figure Answer Figures
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® Choose the correct mirror image of the given figure (X) from amongst the four
alternatives.

* TR foreshed | & &1 T8 SATehId (X) i &l U7 Siel T
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* Identify the missing part of the given figure and select 1t from given answer

figures.

* AT TS AR H B TY WIT hl TATHT SR a1 T8 It AR H H SHAT I

Question Figure Answer Figure

@ Bl=lrdn\

yu—(c)  (d)
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* In the given pair of numbers, the second number is obtained by performing
some mathematical operation/operations on the first number. The same
operation/operations are followed 1n all the number pairs except one. Find the

odd number pair.
G TS W1 T H GOl HEAT Teet| §ET U e VT HishT / TfshaTd shieh 9TH
<1 ST 81 Uoh ol BIgeRt Ol ST 1 H THT ElshT / EishaT3AT shi a0 fora

ST 2| ferm S I 1 <hifsiy |
1A, 7:337

& =10 B. 5:120
‘53—4»: e C. 4:60
Lob— R D. 6:210

3 5=33¢
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* ABSENT: ANESBT :: NOTIFY: NFITOY :: LAUNCH: ?

A.LCAUNH
B. LCNHAU
¢ LCNUHA
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® In a certain code language, 'BASKET' 1s coded as '211911520' and 'BOX" 1s
coded as '21524'. How will 'COVER' be coded 1n that code language?

* T HI2Id e AT H, 'BASKET' 31 211911520' 3T 'BOX' 31 '21524' sh &4 H
heslg, {1 STTAT 8] SET < WIS # 'COVER h sl #heslg, fohar Sam?

- 31522519

|

S« C.21522519
D.31822518
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® In a certain code language, "TRAIN' 1s written as "WUDLQ' and 'ROAD' 1s
written as 'URDG'. How 1s 'TAXI' written 1n that code language?

* T {Hi21d % WINT H, 'TRAIN' I 'WUDLQ' 3T 'ROAD' I "URDG' % &9 H

-~ . 2%
EEL wlldl%l%@ﬁ@\'?Wﬁ%AXI'ﬁ%@%l’@TW? y

”Lﬁp\ \M_DA\LJ

z 20181 3 (4 _ "B WEAL _
RELTS P
QL%DQQ DLQ\ ~—B-WFAL
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* [f it was Thursday on March 01, 2012, then what was the day of the week on

February 01, 20167
* Fic 01 A= 2012 ST TET AT, T 01 HLRT 2016 =l HHIE T hIH-HT o T 2

\"g"’/\
1a- L QJ o .Sunday
\S7 09 Marels— , B. Mo@
\ (-~ 27 X
o m D‘\g\m\f C. Saturday
[ ~ D. Friday

|\f’tla’2n,2—\0d
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®* Find the next term.

® ITTAT S JTd ahifeTy)

’45 3, 72 97, 131, 7
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®* One morning after sunrise, Rahul was standing facing a pillar. The shadow of

the pillar was falling on the immediate right of Rahul, so which direction was
Rahul facing?

* Tsh YeIE YAIGT o S1G Ugel Uoh T ohl T HE shich G ATl TH sh! TSTE TEA
‘oﬁ?mr‘q'r&qg@a? ?ﬁuscfi 1 Hs%ﬂﬁwﬁww?

< T \]/EO,L A N A.FEast

B. West
C. North
D. South

s
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* Anil, Raju and Ravi are standing at the corners of an equilateral triangle drawn
in an open field. Raju walks 3 km to reach Anil. How much distance Anil has to

walk to reach Ravi and then to come back to his starting point?

* A, TS AR U Teh Gt WM H Tl T Toh GHITE BIVST o6 T /@S &l TS
A qoh UG o 1A 3 Tordll =rerar 21 T e uge o feTq I O 379 greaTet
fofg o s ST o forw i i feft gt st @i

A.3
B.4
C.5
D.6
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® The total of the ages of Amar, Akbar and Anthony 1s 80 years. What was the

total of their ages three years ago ?

* AT, fehel SN TYHT 3T el I 80 Y &) i Y T&eT Ieh! ST T ANT fehaT

q7?

A.7T1 years
B. 72 years
C. 74 years
D.77 years
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* In arow of 60 persons, Ganesh 1s 26th from left end. Find out his position from

the right end
* 60 AT hT Teh Uk T, TUIRT o0 SR Y 269 €A W 2| <& SR & 39ehT et J1a
ETIS LY
A.35
B. 34
C. 36

D.None of these




